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. National voters day.
1. January. 15
3. January. 25
B 8,08 BIE)K0.

2. January. 23
4. January. 19
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. Worlds biggest solar telescope is going to
setupin.
1. Itanagar 2. Jammu & Kashmir
3. Nainital 4. Bangalore
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1. 26r5K58 2. ey 9%&8
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. 17th Indian Railway Zone is.
1. Bilaspur 2. Jaipur
3. Kolkatta metro 4. Mumbai
1755 gr88a% B S0050?
1. D8 2. 858
3. 8858 R 4. 003

. India - Aviation summitt - 2014 held at.
1. Bangalore 2. Chennai
3. Mumbai 4. Hyderabad

2014 “50&05r dAGHAS” By S 26R0?

1. BoRErS 2. 3

3. Swoerow 4. eLTeerd

. Which countries rejected the system of

“Euro Currency”™?

1. Britan 2. Denmark

3. Sweedan 4. All of the above

“GSorB® 8By DgeaeR) L &8%0&5 Baoen?

1. Qo8 2. ar&g@; 3. %S 4. Y

. For physically handicapped children...

1. special schools should be set-up

2. teaching is to be done at their hours

3. teaching is to be done at the place
convinient to them

4. they should be admitted in the normal
schools and taught along with other children
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. Which of the following is not correct

according to RTE Act-2009.

1. Free and compulsory education to all
children between the age 6-14 years

2. The number of working days in an
academic year for classes 1-5is 220
3. Need not to conduct any board
examination for classes 1-8
4. There are two techers in a school of
strength 50
od Q& Qg 58y $5630-2009 B Howofod)
38500 &?
1. 6-14 Sonedtsy Hay Ko De0tds &S
Ny wobosEo
2. 1 2008 5 881 S8 3@5&025@%60835 220
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4. 50 08 deen Ko FEzec’ laley
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8. The responsibility that a teacher has to do...
1. providing the students with the subject
matter
2. develop leadership qualities in the
students
3. should increase the respect for teaching
profession
4. participating in social service
programmes
GO0 e, .
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9. The conducting of co- -curricufar activities in
schools.......
1. leisure time can be utilized properly
2. social maturity and co-operative nature
will be developed
3. interestin learning increases
4. will be entertainment
FETo sy sEEsrey AEErosto Jod
1. o835 D0ar) SAS Do
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10. Knowledge and understanding of this
component is basic to make the teaching-
learning process effective
1. Child 2. curriculam
3. methodology 4. subject
SP5esS (DB (Herddoso Basmerd &
©0J0E BoBI P00, VIR (Heedo
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PART -1l (A)
GENERAL ENGLISH

11. This year monsoon started “early”
(Identify the parts of speech of the underlined
word)
1.Noun 2.Adverb 3.Adjective 4. Pronoun
12.1.......... since yesterday.
(Fillin the blank with suitable verb form)

1. do not eat 2. have not eaten
3. did not eat 4. had not eat
13. Whenl ....... the road, | saw a big snake.

(Fillin the blank with suitable verb form)
1. crossed 2. were crossing
3. was crossing 4. cross
14. By whom were you given this pen?
(choose the correct active voice)
1. who did you give this pen?
2. who has given you this pen?
3. who gives you this pen?
4. who gave you this pen?
15. “l wish did not have to take the examinations”
said Mohan.
(choose the correct Indirect speech)
1. Mohan said that he wished he did not have
to take examinations
2. Mohan wished that he had not had to take
examinations
3. Mohan wished that he did not have to take
examinations
4. Mohan said that he wished he had not have
to take examinations
16. The moon does not shine.... its own light.
(choose the correct preposition)

1. by 2. with 3.from 4.to

17, e, more they get, ... more they want
(Identify the correct article)
1.Aa 2.A /an 3.The,the 4. The, a

18. As he was late, the teacher punished him.
(change the following into simple)
1. He was late, the teacher punished him
2. He being late, the teacher punished him
3. The teacher punished so he was late
4. Being late, the teacher punished him
19. Sheelais very late to school today.
(choose the correct question tag)
1. isshe? 2. has not she?
3.is not she? 4. does not she?
20. He searched in his mind for an appropriate
punishment.
(Find the opposite of the underlined word)
1. disappropriate 2. unappropriate

PART - 11 (B
GENERAL TELUGU
21 80 52881580 %0 whSos® eoid?
1. dvorer 2. AHoghtd 3. B R 4. aegRocd
22. 6550 @ IO D>
1. 3,600 0% 2. &, K, 8 o
3.3 8 8 4. 0. B
23. HFerd Jooge ©F0 2.
1. Here DD SV S50
2.3500°8 @FTroNEren, SOt ©FTP® Heded 3H0ETow
3. (@5 Do Hoked
4. Penid PTren EOA 6ot
24. ol P&y OED B ot BFL.
1L % S8 2 H088 HEHKE TR Devmesd
3. D08 4. Kéhoo
25. Sp¥iy Bey DY & FrRes® aoe Heorrd.
1. B0y )& Bdhew - 2652590“9)@ 2. Hoerd - 8086
3. B¥ i’ - EHIZo 4. B
26. Tood% R (HHosos® S0EHB0HSE woghe
FETOD IFPED IS ﬁg&omcﬁa.
1. 1784 @f’é@% 2. 1809 &r3
3. 1817 a3 4. 1750 008
27. ©BISES, Jeo DOFB: (HHB0N agdinven D?
1. JPETogPen 2. oresdoh TTRGPED
3. (©8)8 e 4. 0B, ereth
28. HBEH HogadH Hso =2
1 o Sogo 2. (PSS 3. wdnd 4. (‘D%é
29. “e$08des”, “QeBo(&” HOES® “QarcHé Hes”
8E° a8 405 ABRroDS K8,

1. doo 2. 8% 3. & 488
30. Bots DS BIHE (HRGSD.
Lags 2305 3855 4 SHoH

31. B0FGrEB0 Erme S0P, SoT° S0 @e?
1. Hogen S5 Hokero
2. 5850 So($55D oo
3. HgHTEgen Hotiero
4. 2
32. “éaogﬁs% 5500R erre S ég@'cgggéo o°CH0&
1. %0“8%3% 5500R e S
2. §H3B E°Q0R wrrHHE
3. ée)ogée% SAeYa) Kaovogétﬁa
4. ZR3Id SDoR eridod
33. “3}5}3@52@3&3” R ¥Sebo ©H&Hod.
1. D3%es IR éé&médﬁo {50
2. DI B BEGPESH 50
3. &I SBBHS EHEAD D00
4. D3He HBHS EEHTEAD d8d0
34. L_‘éoﬁ:vgmgéoé) HBE D,
1. mzﬁwaﬁé&o
3. (BoR8eE aE50

2. (BoD8ErE arEs0
4. @éé&é aj°é§o

3 '”a.EEEQE‘”ate 4 m|saEEE99rinfp




ar. (W.m ST o e - B o= ™ nm
s, =0 Prapoll | Thl '-CJ‘% |3 Sl adba
o o JE wicrT s E =, ot
L. u.rR.'ELI &, iFaEg 3. rJOETFRGED o, DIRdeJ ST
[ f T 17 TPt e S e | Yo B e S R -, ’
36, TS o Eraiato LRl ol LG
R e PR T
S TdBneao alfh?
e e - PPpa =\ -
L. =eno 2. IRl (o 4. T )
Cn B | 1. Ty = o - -.-
o BITRERRI0 o) pd0.
o I
B T o e L Pt L e L. BP0
Fr e o b :
1. B foh b earyr rob
[ J —
[ ] T S e B L o
dJ8. D Frissdeots st soll B Sikooaetin M
- £ = A
PRS0 Y SR i, -1 i ¥ e S
[Py =4l o R Proge =1 il = f o e i o e i )
R e I S ot
e, ol panid e e Aperrer
L @i iFdgian arde L Dinaed
F L a i
o Rt St el 5 T e AL
BN [ e e P = s o' M | o )
5 & "z [
1 i ] - :_'hlnu'.- — T o . iy = - —
3. B Rl o e b Y v o W P Ei::_.l.-\.- ok
= L a u
Fome, et Lt St gL
4, D1 Driophnn R Biloaeto
- & [
[ S L L AR T L e r
d9. "=rd Digro DARSE" aEEL wboT
o (= !
= SRR o .
W i o 2.8 metholss
i
b o X . Ly ]
4. =Rl s 4, Hol SicsE
o - e e Y
oo 2Rl T B g
4.0, “f HoE gt grere prers _-"'t"-\.- (== | .-\.-"..i_-\_-
. 8jF=0E o5 9, mefE oeEro
P =, B )
SR R T e = PR
a. ;_.n.lu.l._‘t"'_\ w'%u 4, Nene I.-\.l“_iz
L - e

PART -1l (A}
MATHEMATICS
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. @ isinthe dth quadrant and Cos&=5/13, then
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423, Cumul ative requences areused to measurethe

1. Mean 2. Mode Z.Median 4. Hone
o Shrpead
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. f no value ofan ungrouped data Erepeated,
thenwhich of the followingis not defined™
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A iz defined, thenwhich of the following can X be™?
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g5 Which ofthe following isan oulput device™
1. KeyBoard 2. Pinter
3. Hardware . Software
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Botd 35556 4.
4. Thezeraes of a polynomial are -3, 2thenthe
polvnomialis....
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3. The limiting position of 3 secantof a circleis....

1.radiusz  Z2.diameter 3. point 4. tangent

Y L N B TR
wlend D0 B S
e Ty g o e g
s Loy e T v P LA i e 3. tloticdy 4. A
= e = = oa

0.2 =h =g h Tac= 1—+l=
T

4
o e R 3.2z 4.;

51, zn=TB=pn=
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&2,

ram the following figure the

value of % is

1.9

2.4 3.6 4.6

S WMhich of the following isnot complement [aw
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1. AU A= Z2AT=A
DN 4. A &= 1E

S5, The area ofthe rectangle formed by the
Co-ordinate axes »=2,yv=3 is....
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S6.00,00 (22,0 arethe vetdicesofa _ triangle
1. Equilateral 2. |zzoceles
2. Right angled G Scalens
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7. K=zpeed is12kmsin 1 hourthen it izinsec
__ metars,
tiowl: 18 B
1.4 2,300
52, log. log. log, 16=
1.0 2.2 3.1 L
59, Totalsurface areaof a s=ami-sphere whose
radiusis ¥ cm is 5-:| CIm.
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PART - Il (B

PHYSICAL SCIENCES
1. 1f9=10 mfsec thenthe indial welocity require-:l
toproject a I:u:u:h,rt-:- a heightof 20 mis...
g=10 mfsec’ 0550 20 -,:u iy
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1.100 miec 2. 20 mfzec
F.10 mifsec G40 mifsec

22, Mihich of the following substance undergo a
process of 5u|:-|imatin:|n is...

el o,

& Bod T8k edhalilo mlD :.'“T,.:.“-:; S o
1.pbo 2 zno 3. HHd 4 ZnCo

G3. The resultant resistanceswhentuo

resistances areconnected inseries and
parallel are 2 [1, 2 [1 respectire by, then the
individual resistances ana.
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Ed4."The element Mitagen havethree unpaired

eledrons”. Thizis the law of...

1. Paulis exdusionpinciple 2. Aufbau principle

Z.Hunds mle 4. Elern-:-ullgpnnclple
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55, The constituent metalsin "Hichrome" ane.
1. Iron, chromium and nicke|
2. Siler and copper
2. Coppet aluminium andtin

G, Mickel, chromium, Iren, Manganese
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G, If an objectizplaced ata distance of S0 cm
from concave mirmor offold length20 cmothen
the -:IEtance betveezn the objectand it=imageis...
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hich of the follawing isthe ascending arderof
alectrom agnet craves of theirmaws length.
1. Infrared rays < Micro waves <
Hitravialet rays+< Radiowawves
2. Utrawiolet rays< X -rays
= Infrared rays < bicro waves
2. X-Rays< Wisblespectum <
Infrared rays = Radiowaves
g, ¥-rays <x-rays < Infrared rays
= Wizible Epectrum
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When phospharous pent-:-:-:i-:l.é iz dizsalvedin
hotwater the product i=....
1. Hypophosphorows acid
2. 0rhophosphorous acid
=, Hy]:u:-phn:us.ph-:-nca-::d 4. Phosphoric acid
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S8, WM'hich metal oxide impatspumple colourto
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1. CU o 2. MnO 3. Fen 4 CrO

JOUa, B and Yare coefficient of linear
exparsion, coefficient of supedicial exparsion,
coefficient of cubical expansion respectively
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PART - 1l (C)
BIOLOGICAL SCIENCES

71. The fertilization takes place in Earthworm
1. Cocoon 2. Clitellum
3. Seminal Vesical 4. Epididimus
TSP HodEse atid [HEso

1. 0888 2. B8wo 3. Hlsedaho 4. IDEED
72. The vegetative propagation present in these

plants.

1. Gross plants 2. Sucker

3. Potato 4. Neem

DD (HB55)8 (B0 BwHSE adordEos.

1. ﬁ@a»é&e» 2. Do¥ I

3. 20MPEHod 4. 3%

73. The graveyard of R.B.C. is
1. Liver 2. Spleen
3. Bone marrow 3. Gall Bladder
QBBE Bere §T5rdE © HAY HeoRLd?
L 8o 2. o 3. o} g 4. dEdoho
74. Following this vitamine present in cow milk
specially.
Bod & ePHres® HESore ofoid DL,
1.K 2.D 3.C 4.A
75. The Ozone layer present in height from the
surface of earth.
8858 8 2o 65880 Hod Hod A&
1.16-23 km 2.16-32 km
3. 16-24 km 4.16-42 km
76. The dead cells are present in these tissue.
1. Collenchyma 2. Sclerenchyma
3. Chlorenchyma 4. Aerenchyma
QP Bezren B Eeverwo
1. "m(;ogssﬁdi:) esePoo 2. é@é BeaePo0
3. 08 Beaere0 4. T°E BeaePo0
77. The cell organell involved in secretion of pro
teins from cell....
1. Golgi complex 2. Peraxysome
3. Endoplasmic Reticulam 4. Mitochondria
Ee20 500D (DSBS (DS80S &)t Bewoiso
1. @ So8Ho 2. JoedE’o
3. @oééé (B&gere0 4. DePeeo@ase
78. Sprinkle of few water drops on the bred, you will
see growth of some organism, after some days
1. The scavengers of earth
2. Primary plants with chlroplasts
3. Amphybian plants
4. Animal cules with vaccuole
BE D5 A HFen 3, B Bere Shared DB
DEHEOD e oS KA.
1. 2P0 HIEFHORY @ Dendad fHen
2. 080 Y (FHNE IwKen
3. 6:gIcSBE IwB)en
4. OE8en 8O esodoseen

79. The cavity of middle ear connected to the cavity
of mouth by tube is called....
1. Eustachian canal 2. Tympanic tube
3. Nasal tube 4. None of these
SIS L5808 BDSED &g B0 Sowogo
3)60)66)'5"3 ¥o
1. oﬁ:3°83£%10‘5>5 JrEo 2. 88 %o
3. Fe3s° e¥o 4. Db

80. The scientific name of common Indian Krait.
1. Bungarus faciatus 2. Bungarus coeruleus
3. Naja Naja 4. Ophyofagus
Eeaarsn wodH o
1. 2008R SRVGED
3. Jres Jres

2. OISR HSEH
4. 2.3@BrNR
PART - Il (D)
SOCIAL STUDIES
81. The tenure of the Judges of High Court is...
1. 58 years 2. 60 years 3. 62 years 4. 65 years
3EEG Tegehsre H8dseeo...

1. 58 Jon 2. 60301 3. 62 Jon 4. 65 Do
82.Which among the following is not a Directive

Principle?

1. Prohibition 2. Encouragement

3. Improving standard of living
4. Eradicating Exploitation of living
Bod AS° edE SrBo 206 HB?
1. Sogigars a0
2. H&S HBFHe eyo
3. &5 (ke DosEo
4. S5 AB*oso
83. Total no of members in the Rajya Sabha...
TPe3R0gs g Dogy
1.238 2.250 3.252 4.260
84. In which year the system of local self
government came into existence in our state
0% oo’ FRE Bpsarome B0 oet8
SNS Dod&BEw....
1.1959  2.1957 3.1963 4.1969
85. Right to constitutional remedies
TPeg0i HOEBY o8,
1.Art-17  2.Art-19 3. Art-32 4. Art-21
86. “Mishmi Hills” of Shivalik range are in the state of
1. Meghalaya 2. Tripura
3. Jammu & Kashmir 4. Arunachal Pradesh
808 (388 BodS “Qo2y Foken” & ToRos®
€TNO0?
1. SHgrecdH
3. e 9%&8

2. 853
4. ©BerSS (HES




87.Largest city in North American continent of
“Tyga” region is

1. Murmansk 2. Aarkanjel
3. Fair Banks 4. Irkutsk
88 oo poos® “Bre” (oot ©d
2 disdo.
1. 25330'355& 2. @éoéef
3. Dowb 21508) 4. 256%e%y),
88. SIAL layer....
1. Crust 2.Mantle 3. Core 4. Focus
SIAL r8
1. grdHerwo 2. &rdaed0o
3. Bol& svodeo 4. 8
89. Summer solastice....
1. March 21 2. September 23
3.June 21 4. December 22
FD echroso
1. &8y 21 2. ?o‘z’agoaaS 23
3. 2o 21 4. 8028 22
90. Which city in India is called as “cotton pollis
of India?
1. Mumbai 2. Coiambattur

3. Ahmedabad 4. Chennai
“setod PR 8D VOB P @ SKT°R) HeosRG?

1. S0z 2. cSHoasr
3. odmrerd 4. IZ)

91.Buland Darwaza was built by
1.Akbar 2. Shahjahan 3. Jahangir 4. Babar
coSTelatolinlop = IS 3 dggosatiod?
1 o0%5 2. pessBS 3. a0 4. eradd
92. Who was formed Indian Association
2. Feroz Shaw Mehtha
3. Surendranath Benarjee
4. G.Subramaniyam lyar
Indian Association &3 BP0 IS EreroBOTE
1. 7590 i 2. 288E Jesae
3. XBoBTeE e?;:éé 4. Dolsyesgo @i
93. Who established four circuit courts

1. Govinda Ranade

1. Carn Wallies 2. Warren Hasting
3. Wellesly 4. William Bentinck
Trenid Hoks r&gdﬁa@;mozé) QNG @5%30{5’6)?
1. =88 0% 2. 3988 2ol

3. b 4. OS> Bodoh

94. Which year formed Anti Comen turn treaty.
o‘ﬁroé%%sgb&s 08) aoaldd Sone®
Ersrobosadod?

1.1935 2.1936 3.1937  4.1938

95. Which religious called Human Religious®
1. Islam 2. Hindu 3. Buddist 4. Christain
Q) $oEed)) KNS Sodorr enard?

Lo 2 %ot 3. 8¢ 4. BSdHso

96. How much investment on large scale sector.
1. 1 Crore 50 lakhs above
2. 25 lakh - 1 crore 50 lakh
3. 25 lakh 4. None of these
g0 HOEHL o8 Degald LT
1. 1 8%8 o0& 50 05O BT QBN
2. 25 oFp Ho& 1 g% 50 oo 8B
3. 25 o 4. bz

97. Which is the Economic Indicators.

1. Increase in Employment 2. Infant Morlatity
3. Literacy 4. Urbanisation
eagé D8 DB?

1. 6RO DHHBO 2. 3HHBere B
3. ©FTRgS Bew 4, o“aéé))s%éésa

98. Maintenance of army in times of peace is
1. Revenue expenditure
2. Capital expenditure
3. Development expenditure
4. None of these
208 $5H08® RS WHHK) Kyabo.

1. el S0 2. Sredd Jgaho
3. @9@@% S50 4. Db
99. How much year Medium term credit.
1. 1year 2. 1-5 years
3. 5-10 years 4.7-10 years
gEPOE Hoeasee NG A Dolien.
1. 1 Son 2. 1-5 Jonen
3. 5-10 Jounen 4. 7-10 Jonen
100.Which is Economic Agents.
1. Producers 2. Consumers

3. Traders 4. All of these
eagé (D8 2&?

1. 6&)8 orten 2. AASBeriTedden
3. SBoen 4. 2
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